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3; initiates the execution of an operating system and the __ activates the required functions associated with
peripheral devices.
a) boot loader; driver
b) system manager; driver
c) boot loader; multiprocessor
d) system manager; multiprocessor
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b) For the RAID configurations, writes data on two drives at the same time; whereas _____ splits data]

instructions, and information across multiple drives in the array.
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7. Which of the following approach results in optimal time complexity for sorting a list?
a) merge sort
b) insertion sort
¢) bubble sort
d) selection sort
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Initial 13, 4, 54, 23, 1
1 4,13, 54, 23, 1
2 4,13, 54, 23, 1
3 4,13, 23,54, 1
4 1, 4, 13, 23, 54
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(Z)E#FH A ik (Selection Sort)
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Initial 26, 8, 29, 80, 16, 18
1 8, 26, 29, 80, 16, 18
2 8, 16, 29, 80, 26, 18
3 8, 16, 18, 80, 26, 29
4 8, 16, 18, 26, 80, 29
5 8, 16, 18, 26, 29, 80
2. WEX

void selectionSort(int * list)
{
for inti=0;1<n1;i++) {
int x = i;
for (intj =1+ 1;j <= n; j++) {
if (list[j] < list[i]) x = j;
}
if (il1=x) {
swap(list[i], listfm]);
}

}
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(m) & 3k A% (Bubble Sort)
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Initial 26, 18, 29, 80, 16, 8
1 26, 18, 29, 16, 8, 80
2 26, 18, 16, 8, 29, 80
3 18, 16, 8, 26, 29, 80
1 16, 8, 18, 26, 29, 80
5 8, 16, 18, 26, 29, 80

3. a#
(1) HrRA#E

A. Bestcase: E#H &b/ HHE K (1,2 3,4,5) * ik
B R E B #n- 1R HEFRMAEEE AOM)

B. Worst case : B# & K#k2/ (5, 4,3,2,1) » F&
B # (n-1)+...+2+1=n(n-1)/2k » K F M HE % E B
O@n’) °

C. Average case : On?

(2) #AStable sort
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(ZR)A-F 8k A5 (Merge Sort)
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Initial 26, 5, 77, 1, 61, 11, 59, 15, 48, 19

1 [5, 26], [1, 77], [11, 61], [15, 59], [19, 48]
2 [1, 5, 26, 77], [11, 15, 59, 61], [19, 48]
3 [1, 5, 11, 15, 26, 59, 61, 77], [19, 48]
4 [1, 5, 11, 15, 19, 26, 48, 59, 61, 77]
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5. (10%, 5 points for each) Given the following expression tree, convert if to the Prefix and Postfix notations
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void preorder(TreePtr tree) {
if (tree != NULL) {
printf("%d", t->data);
preorder (t->1Child);
preorder(t->rChild);

3. 1 /%&£ (Postorder Traversal) ' EDH AL FH#H BAEDH A
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void postorder(TreePtr tree) {
if (tree != NULL) {
postorder (t->1Child);
postorder (t->rChild);
printf(" %d", t->data);




